Networks  Exam Practice
10 marks

1. Explain an Advantage of the Bus topology over Star networks (2 marks)



2. Name a network which is least likely to be connected to the public switched telephone network (1 marks)

A) Mobile phone network
B) Nationwide telephone network
C) A secure telephone network in a military base
D) A telephone network allowing cooms withing a single building and beyound


3. Servers are connected using a wired ethernet LAN. Describe two characteristics of a wired Ethernet LAN (4 mark)

1.



2.




4. Explain two benefits and a disadvantage of RING networks over BUS networks (3 marks)

benefit 1:


benefit 2:



Disadvantage: 





















Answers:
1. One mark for point, another for explanation:

Less set up costs (1) because there is less cable running to each client from the server/router (1)

2. C (1 mark)

3.   (4marks)
[image: 256 SSD:Users:imac:Desktop:Screen Shot 2017-11-27 at 00.21.21.png]
[bookmark: _GoBack]4. Benefits: Faster connection to server through router because of a direct connection (1 mark) and if there is a break in the system, not all clients are affected (1 mark)
Disadvantage:  Most costly to install due to more cable being used (1mark)
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Two marks per description (max 4) 0]

High bandwidth/100MB/1GB/10GB (1) so data will be
transferred quickly (1)

Dedicated bandwidth (1) between server and switch (1)
Different connection types (1) to support fibre/copper (1)
Uses cables (1) so more difficult o intercept (1)

Any other valid answer

Do not accept answers relating to cost or reliability
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